WORKSHEET [B] BUSINESS STUDIES

CLASS 11

CHAPTER: PUBLIC, PRIVATE AND GOVERNMENT
ENTERPRISE

Long-Answers Questions (100-150 words) (5-6 marks)

1. Insptite of a dominant role the public sector could not do much
for economic development of our country .Then also why is
government of India not closing all public sector enterprises? Give
three reasons .

2. Describe the industrial policy 1991, towards public sector .

3. Describe Metro Corporation is the result of collaboration
between Japan and Indian Railway . Advanced technology of
Japan and finance and resources of India constituted DMC . Give
the suitable name of this partnership and why two companies or
organization join together to work as one enterprise ?
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